EXAM M QUESTIONS OF THE WEEK

S. Broverman, 2005

Question 3 - Week of Auqust 8

You are given the following for every integer age x:
(i) d, =10 and (i) A, =

(a) Cdculate 10950 -

(b) Assuming UDD over each year of age, calculate @y,1p) -

The solution can be found below.



Question 3 Solution

(8 Usingtherelationship A, =1 — dd, weget % =1—10d , fromwhich it

followsthat d = 5; . Then v=1—-d =3 =& and i = 55 = .05.

Then using the relationship @, = 1 + vp,ii, 1 weget 10 =1+ (32)(p,)(10)
fromwhich it followsthat p, = .945 . Thisisvalid for any integer x.

Then, 10pso = Pso - D1+ -pso = (.945)(.945)---(.945) = (.945)10 = 5680,
and 19gs0 = 1 — 10ps50 = 4320 .

(b) Weusetherelationship @, = @, + V" 1Pr Ty -
@20 = Ay + v 10pa0 @30 -
FromUDDwehave A, = { A, = =%_ .1 — 5368 foral z,

=542 = o5 2

andthen @, = =4« = 9.494 for all z.
Therefore 9.494 = @15 + 0% 100, - (9-494) = Topqg) + pgym - (9:494)

Note that since v = 22 and p, = .945, wehave vp, = .9, sothat

’UIO 10Pz = (.9)10 = .348678 .



